@ Teachingninja.in

KVS PRT Previous
Year Paper
09 Feb, 2023 Shift 2

W Latest Govt Job updates
ﬁ rival y updates
W Free Mock tests available

Visit - teachingninja.in

@ Teachingninja.in



Print ResponseSheet

KVS DIRECT RECRUITMENT
EXAMINATIONS
. (Candidate Response Sheet) .

Roll Number

Name of the Candidate XXX

Examination Name |IKVS PRT Music
Exam Date & Time 09-02-2023 02:30:00

Subject : GE_QO01-Q15 PRTMUSIC

Question ID:- 151

The audience loudly cheered the comedian’s antics.

(1) The antics of the comedian are loudly cheered by the audience.

Options:-

.1, Option ID :- 601,
. 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

Change the following sentence from Active Voice to Passive Voice :

(2) The comedian’s antics were loudly cheered by the audience.
(3) The comedian’s antics were loudly cheered.
(4) The comedian’s antics have been loudly cheered by the audience.

Question ID:- 152

Change the following sentence from Active Voice to Passive Voice :
Who killed the ferocious tiger ?

(1) The ferocious tiger was killed by whom ?

(2) The ferocious tiger has been killed by whom ?
(3) By whom has the ferocious tiger been killed ?
(4) By whom was the ferocious tiger killed ?
Options:-

.1, Option ID :- 605,

. 2, Option ID :- 606,

. 3, Option ID :- 607,

. 4, Option ID :- 608,

Answer Given:- 1, Option ID : -605

Question 1D:- 153
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Fill in the blank with the correct preposition.

I prefer walking cycling.
(1) with
(2) than
(3) to
(4) from
Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 4, Option ID : -612

Question 1D:- 154

Fill in the blank with the correct preposition.

How can you prevent him doing things in his own way ?
(1) off

(2) for

(3) with

(4) from

Options:-

.1, Option ID :- 613,

. 2, Option ID :- 614,

. 3, Option ID :- 615,

. 4, Option ID :- 616,

Answer Given:- 2, Option ID : -614

Question 1D:-155

Choose the correct tense form from the following options.

They will be leaving for the US next month.

(1) Present Continuous

(2) Future Continuous

(3) Future Perfect Continuous
(4) Future Perfect

Options:-

.1, Option ID :- 617,

. 2, Option ID :- 618,

. 3, Option ID :- 619,

. 4, Option ID :- 620,

Answer Given:- 2, Option ID : -618

Question ID:- 156
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Choose the correct tense form from the following options.

He will have finished reading the novel by the time you meet him.

(1) Future Indefinite
(2) Past Perfect
(3) Future Perfect Continuous
(4) Future Perfect
Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 3, Option ID : -623

Question 1D:- 157

"When will the train arrive ? the passenger said to the guard.

(1) The passenger asked the guard when will the train arrive ?

(2) The passenger asked the train when would the train arrive.

(3) The passenger asked the guard when the train would arrive
(4) When the train would arrive the passenger asked the guard.
Options:-

.1, Option ID :- 625,

. 2, Option ID :- 626,

. 3, Option ID :- 627,

. 4, Option ID :- 628,
Answer Given:- 4, Option ID : -628

Change the following sentence from Direct Speech into Indirect Speech.

Question 1D:-158

Change the following sentence from Direct Speech into Indirect Speech.
‘Did you like my poem ?’ the poet said to the reader.

(1) The poet asked the reader had he liked his poem.

(2) The poet asked the reader if he had liked his poem.

(3) Had he liked his poem the poet asked the reader.
(

4) The poet asked the reader if he had liked his poem ?
Options:-

.1, Option ID :- 629,
. 2, Option ID :- 630,
. 3, Option ID :- 631,
. 4, Option ID :- 632,
Answer Given:- 1, Option ID : -629

Question ID:- 159
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In the following sentence, identify the part which contains the error.
The government / has launched / many schemes / to help poor.

) 2) (3) (4)

Options:-

.1, Option ID :- 633,
. 2, Option ID :- 634,
. 3, Option ID :- 635,

. 4, Option ID :- 636,
Answer Given:- 4, Option ID : -636

Question 1D:- 160

In the following sentence, identify the part which contains the error.
The feeble, old man / is too weak / not to / walk.

(1) (2) (3) 4)
Options:-
.1, Option ID :- 637,
. 2, Option ID :- 638,
. 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 3, Option ID : -639

Question ID:- 161

In the following sentence, choose the word nearest in meaning to the given word.
ACCORD

(1) agreement
(2) discord

(3) unanimity
(4) consensus
Options:-

.1, Option ID :- 641,

. 2, Option ID :- 642,

. 3, Option ID :- 643,

. 4, Option ID :- 644,
Answer Given:- 4, Option ID : -644

In the following sentence, choose the word nearest in meaning to the given word.
PRECARIOUS

(1) pessimistic

(2) tragic
(3) risky
Oﬁ?ons:§carce

.1, Option ID :- 645,
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. 2, Option ID :- 646,
. 3, Option ID :- 647,

. 4, Option ID :- 648,
Answer Given:- 3, Option ID : -647

Question ID:- 163

Choose the word opposite in meaning to the given word.
DIFFIDENT
(1) Optimistic
(2) Stupid
(3) Aggressive
(4) Confident
Options:-
.1, Option ID :- 649,
. 2, Option ID :- 650,
. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question 1D:- 164

Identify the part of speech of the underlined word.

One must analyse all aspects of an issue before coming to a decision.

(1) Noun

(2) Adverb

(3) Verb

(4) Pronoun
Options:-

.1, Option ID :- 653,
. 2, Option ID :- 654,
. 3, Option ID :- 655,

. 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Question ID:- 165

Identify the underlined clause in the given sentence.

I presume that he is a dishonest person.

(1) Principal Clause
(2) Noun Clause

(3) Adjective Clause
O(sl Ons:_Adverb Clause

.1, Option ID :- 657,
. 2, Option ID :- 658,
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. 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 4, Option ID : -660

Subject : GH_Q16-
Q30 _PRTMUSIC

uestion ID:- 166
TEIYT 1 U 39 W ST W9 o1 Gelsh IR alferg ;

GUEEiEE HHER & THER 96 i A S UHHE HROT T § | S o o off 9 meeyul €
oo 1 & o SfifS) & 9E Sl ST % WA A0 TR € | SRISFIR Faes e T Hedt fammEt o e
T 3 ¢ | TRI0ET 797 aeie % TR TR-TeRdl & fau enave Sushol % faAl 1 ey 3w €
foame g aR-¢ =1 qer F 9reag € fame €

Tl f5FE YR % SUsOl % feRTeE &1 @y e € 2
(1) YRR

(2)

(3) SYART
(4)

Options:-

.1, Option ID :- 661,
. 2, Option ID :- 662,

. 3, Option ID :- 663,

. 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167

Frefafad Ty 1 TgFt 39 W AEia 999 #1 9eid W eI

GUEHiEE THER & GHER 6 sl el 6 UHHE HROT T § | S o o off 9 meeyul €1
ol &1 € o S| & 931 I 2T o 19 0 6 ¢ | SRSATR ok e T He famrEt o e

T 3 ¢ | TRIET 797 aeie % TR TR-Teedl & fau ey Sushol % fasaAl ey 3ot €
foame g aR-a¢ =1 qemr F 9rea € fam €

Tl f5hE YR % SUFUl % fa=maE & oy Sewdt € 2
(1) 9RYREH

(2)

(3) YA
(4) =
Options:-

.1, Option ID :- 665,
. 2, Option ID :- 666,

. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 1, Option ID : -665
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Question ID:- 168

Frefafad Teie 1 TgHt 39 W SRd J9 &1 Feid 3w aifay

UG UTER & SUER U5 i R qFal 1 THHE HRT 6 ¢ | ST o o off Sgd Heeyul |
ot 1 € o SfifS | o S S ST o WIEE 0T TE ¢ | SRISeTR Fas e T Hedt famret o e
TR F § | [EI0E S0 §9ie % SR SR-Tewel % fou sievaes Susll % faRmaEl @ e 3aTd €
foame Ara sR-a¢ &1 qereT 1wy g famE 2

TRl f5FE YR % SOl % e &1 @y et € 2
(1) 9RufER

(2) S F SATET

(3) IwERR

(4) W

Options:-

.1, Option ID :- 669,

. 2, Option ID :- 670,

. 3, Option ID :- 671,

. 4, Option ID :- 672,

Answer Given:- 1, Option ID : -669

PN " 9420
UEstonro.- 1oy

Frefafad Teie 1 TgHt 39 W G J9H #1 G2leh S alfal

T I THMER & WHER G5 i el &1 WHHE HROT T € | Sk 3 e off Sgd eyl € |
o=l 1 & o S| 3 T 1 ST o WA A T © | SRR gk e T gedt fammEt o e

T A ¢ | TR0 o797 aie & R SRl & fou eravee Sushol % faAl 1 ey 3w €
foame A sR-a¢ &1 qere 1 /AT € fam ¥

Tl fFg YR F SUF o faRE 1 @y 33w € 2
(1) 9RYfER

(2) @ ATET

(3) IwEFEH

O%t?ons:}q—gﬁ

.1, Option ID :- 673,
. 2, Option ID :- 674,
. 3, Option ID :- 675,
. 4, Option ID :- 676,
Answer Given:- 4, Option ID : -676

Question ID:- 170
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foreiferfiad & QU & ST v & :
(1) 5%
(2) feei
(3) =-9Y
(4) Hifersh
Options:-
.1, Option ID :- 677,
. 2, Option ID :- 678,
. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Frefafaa e 1 Tew 39 W HRa W9 1 GelE I Sl

YOHHIIE THTER & GHER TS i ARFd S UHHE HRUT T € | S o oy off 9gd Tyl €1
ool =1 & & ST 3 oS Y 9 % W O e | SUSTR gaek e T Hes famme @ e
T FH § | ORI S0 Seie % IR TR-TEwl % fAu savaes Susll % Sl ey 3w §
forame A sR-9¢ T T 1 WA € o 7 )

Question ID:- 171

.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,
. 4, Option ID :- 684,
Answer Given:- 1, Option ID : -681

Question 1D;- 172

Frefafad | ad+ =i gfic 9 o9s 7= ¢ -
(1) Hien-wren
(2) e
(3) #fy=
(4) Hu1
Options:-

frefafaa § s/ vse Fm ©
(1) snfe-3fd

(2) AN

(3) AT
O%t?ons:-eﬂ-{?[_:{aq

.1, Option ID :- 685,

. 2, Option ID :- 686,

. 3, Option ID :- 687,
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. 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173

Options:-

.1, Option ID :- 689,

. 2, Option ID :- 690,

. 3, Option ID :- 691,

. 4, Option ID :- 692,

Answer Given:- 1, Option ID : -689

Question I1D:- 174

(1) gad

(2) ®EH
(3) FEA
(4) fem
Options:-

.1, Option ID :- 693,
. 2, Option ID :- 694,
. 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 1, Option ID : -693

Question ID:- 175

fr=fafes § 91’ v &1 qaigarE 7w 8

g +IRT Y G R
(1) ZewEm
(2) EEEm
(3) SRR
O(|Slt?ons:jg{rq—dwT

.1, Option ID :- 697,
. 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697
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Question ID:- 176

(1) F
(2) wHEA
(3) '
(4) @
Options:-

.1, Option ID :- 701,
. 2, Option ID :- 702,
. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 3, Option ID : -703

Question I1D:- 177

Freafafad H aem we 781 €
(1) &
(2) &
(3) I3
(4) 3SI%
Options:-

.1, Option ID :- 705,
. 2, Option ID :- 706,
. 3, Option ID :- 707,
. 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question1D:--178

(4) U =1 WG HEAT
Options:-

.1, Option ID :- 709,
. 2, Option ID :- 710,
. 3, Option ID :- 711,
. 4, Option ID :- 712,
Answer Given:- 1, Option ID : -709

Question ID:- 179

‘SR W R T e o weie 1Y §
(1) e & S

(2) HrE @

(3) e YEiad | TS
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(1) =3I
(2) =
(3) WIS
(4) T
Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 4, Option ID : -716

Question ID:- 180

Frfafed 9 e/ ® -

(1) TSweht Twegar 7 & S ¥k — g

(2) fSEeRt g 7 &1 ST Hh - AJA

(3) TormeRt avi 7 fohan s 9 - STy

(4) o9 9 favam = foran s 9ok - sifavasia
Options:-

.1, Option ID :- 717,

. 2, Option ID :- 718,

. 3, Option ID :- 719,

. 4, Option ID :- 720,
Answer Given:- 3, Option ID : -719

Subject : GKCA_Q31-
Q50 PRTMUSIC

Question ID:- 181

Who among the following was awarded a one-time Sangeet Natak Akademi Amrit Award under
Azadi Ka Amrit Mahotsav (AKAM) in the field of Nata Sankirtana ?

(1) Ng Salmon

(2) Anant Mahapatra

(3) Ananda Bag

(4) Y. Jatra Singh

¢ Hehld @ & H ATSG F FGd HeloHd (AKAM) % SFaild Tharwit i ek STeheH G
Trefafad 9 § 68 yem foFan T 2

(1) = FeHH
(2)  STHd R
(3) HT S

(4) =, 5 fER
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Options:-

.1, Option ID :- 721,
. 2, Option ID :- 722,
. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 1, Option ID : -721

Question 1D:- 182

The Supreme Court of India laid down the guidelines to prevent sexual harassment at work place
in which of the following landmark judgements ?

(1) Vishakha and others versus State of Rajasthan
(2) Shayara Bano versus Union of India

(3) Nirbhaya versus NCT Delhi

(4) Aruna Shanbaug versus Union of India

IRd & F=qd =AEed 5 fefafed | 9 frg tfaefas o 1§ seee ® dfte sctes 9 femm & fag
feen-fdw fuifia fore €2

(1) Taeman AR s FAH TSRIH T

(2) HEU FH I WG HH
(3) Tastan s Ui TSae & (NCT) feett
(4) STEON ISR FH IR HH5

Options:-

.1, Option ID :- 725,
. 2, Option ID :- 726,
. 3, Option ID :- 727,
. 4, Option ID :- 728,
Answer Given:- 1, Option ID : -725

Question1D;-183

Which of the following species is known as the “Tiger of the Ganges’ and is an acquatic eco-system
indicator species ?

(1) Asian small-clawed Otter
(2) Eurasian Otter

(3) Gangetic River Dolphin
(4)

4)  Salt water crocodile

frafafaa § & form wefa &1 71 1 2R’ %@ S § 3R 98 U Seltd TRynel Hohdedh Ysiid & 2
(1) TR S T8 e Jel Sadaa
(2) g sEfeermeE
(3) T TS Al Sifew
) @R U STl HHE
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Options:-

.1, Option ID :- 729,
. 2, Option ID :- 730,
. 3, Option ID :- 731,

. 4, Option ID :- 732,
Answer Given:- 3, Option ID : -731

Question ID:- 184

Match the countries in List I with their National Currency in List IL

List I List II
(a) China (i) Real
(b) Brazil (i) Renminbi
(c) Belgium (iii) Euro
(d) Argentina @iv) Peso

Choose the correct answer from the list below :

(@) (b) (o) (d)

(1) (@), (v), @), @
(2) @) (@), () @)
() (@), (@), (@) ()
(4)  (@v), (@), @), (i)

ger-14 fou 7o <9 i get-11 4 < 78 37 T qe1 % g foem sifs |

-1 Tei-11

(@ = @ form

(d) ST (iv) A

2 & 7 g QG W F T A
(@ (¢ (¢ (d)

(1) (@), @v), (@), @)

(2) (), @), (@), (iv)

(3) @), (), Gi), (v)

d&lons: @), @), (@), (i)

.1, Option ID :- 733,
. 2, Option ID :- 734,
. 3, Option ID :- 735,
. 4, Option ID :- 736,
Answer Given:- 4, Option ID : -736

Question ID:- 185
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Which among the following is the correct description of the book “How to Live Your Life” published
in 2022 ?

(1) Itis written by Ruskin Bond in the form of a letter of advice from the author to all the readers.
(2) Itis written by Bill Gates on the theme of pandemic prevention in future.

(3) It is written by Viola Davis as an autobiography of a Black woman in the USA.

(4)

It is written by Gita Piramal as a commentary on the extra-ordinary life of Rahul Bajaj.

o 2022 H yewifoE TR ‘e 2 g O9r oRw % 9R ° frefatag § § o9 @ 9o wd w2
(1) 39 A aic 50 @ ¥ YIS 1 Tk WHY 92 F w9 § fora 7 @

(2) =9 foe Tieq g vfasr | g | 59 F oty W) fomn o ®

(3) = fasion Sfew 501 g w8 A U A Higen #i ook F w9 F foran T ¥
(4) 39 T FTRmE 510 UgE 9SS o STHINRY] Siiaq W U 2ol o &9 H foran 71 §
.Olﬁzop:l;n ID :- 737,

. 2, Option ID :- 738,

. 3, Option ID :- 739,

. 4, Option ID :- 740,
Answer Given:- 1, Option ID : -737

Question 1D:- 186

According to the Indian Constitution, who among the following can be removed from office by a

resolution of the Rajya Sabha passed by a majority of the then members of Rajya Sabha and agreed
to by the Lok Sabha ?

) The President of India

(2) The Speaker of Lok Sabha

(3) The Vice-President of India

(4) The Deputy Chairman of Rajya Sabha

—_
| S

R o GiauE & 7R f=fafaa § 4 60 9w & T8 9% 510 39 98 9 g2/l &1 Hehal § g
TG F TehTel o Heedi & Sigad 9 o famn o § iR o oirergen gevd ©

(1) 9Rd 1 Tl

(2) THE FAY

(3) 9 <kl 39-Tregfd

4o T IY-Fmfd

.1, Option ID :- 741,
. 2, Option ID :- 742,
. 3, Option ID :- 743,

. 4, Option ID :- 744,
Answer Given:- 3, Option ID : -743
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Question ID:- 187

James Mill in his famous book ‘The History of British India” divided the Indian history into which
three periods ?

(1) Ancient, Medieval, Modern

(2) Pre-British, British, Post-British
(3) Hindu, Muslim, British
(4) Vedic, Buddhist and Mughal

Sy e A o719t wieg T ‘g fewdi it fafew sfean’ d vra & sfaem =i foa i el § wier 2
(1) 9T=H, HeFhme, syfHs
(2) ga-fafew, fafew, vea-fafew

(3) Tes gfiem, fafew
(4) dfee, drg, g
Options:-
.1, Option ID :- 745,
. 2, Option ID :- 746,
. 3, Option ID :- 747,

. 4, Option ID :- 748,
Answer Given:- 3, Option ID : -747

Which of the following statements is not correct about the Bretton Woods System ?
(1) International Monetary Fund and World Bank were established as Bretton Woods Institutions.

(2) The system was based on fixed exchange rates for national currencies.
(3) The American Dollar under this system was pegged to the British Pound at a fixed rate.
(4) The system emerged in the post-Second World War era.

927 959 =ae & 9§ frafafed § 4 $9 9 wyE g8 a6 22

(1) Adisia gerhm iR fava d@ @t T sied 959 Seri & &9 8 & T8 |

(2) I Ewen U gEiell & fau fAfvem fafrme g @ smafa o

(3) =H HaEdl  Harid SRl Sier fafew uise o e us fHfved fafa gv & e gan o
a&)ons:%mwmﬁsag@%mﬁmﬁm&

.1, Option ID :- 749,

. 2, Option ID :- 750,

. 3, Option ID :- 751,

. 4, Option ID :- 752,
Answer Given:- 4, Option ID : -752

Question ID:- 189
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Consider the following statements :

(a) The first known printing press in Europe was developed by Gutenberg in England.
(b) The first book printed by the Gutenberg Printing Press was the Bible

Choose the correct answer from the codes below :
(1) (a) is correct but (b) is wrong

(2) (a) is wrong but (b) is correct
(3) Both (a) and (b) are correct
(4) Neither (a) nor (b) is correct

Fr=fafad wge W faar #ifs

(a) I H weel @ e 9 = refe § yewent g fasfaa foran
(b) T Tt U g gfad weel qeae sefeer of |
= feU 7T FH2 | HE I A =TI ST

(1) (a) W&l B fohg (b) 7TeTd ©

(2) (a)7Terd ® fohg (b) TET @

(3) (a) ¥R (b) ST wEl &

(4) (a) AR (b) S H & I & TG ¢

f)lr,)'?)op:lsi;n ID :- 753,

. 2, Option ID :- 754,

. 3, Option ID :- 755,

. 4, Option ID :- 756,
Answer Given:- 3, Option ID : -755

Ouestion-1D--—-190
HESHOR1H—19v

Which micro-organism causes the plant disease Citrus canker ?
(1) Fungi

(2) Bacteria
(3) Virus
(4) Protozoa

e gawsia o R fagy Het T T8y I 86 € 2
(1) 9%
(2) ftamy
(3) formmy
fons TN

.1, Option ID :- 757,
. 2, Option ID :- 758,
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. 3, Option ID :- 759,

. 4, Option ID :- 760,
Answer Given:- 3, Option ID : -759

Question ID:- 191

(1) Fusion

(2) Pollination
(3) Fertilization
(4) Stamens

(1) HHHA
(2) T
(3) T
(4) gHFE
Options:-

.1, Option ID :- 761,
. 2, Option ID :- 762,
. 3, Option ID :- 763,

. 4, Option ID :- 764,
Answer Given:- 3, Option ID : -763

Ouestion1D-—1902
ucstonTo 197

The process of fusion of male and female gametes is called :

T IR TR IR % T T AR A FHedt § 2

1 9

(2) 20
(3) 18
(4) 88

1) 9
(2) 20
(3) 18

dﬁl[)ons:8 8

.1, Option ID :- 765,
. 2, Option ID :- 766,
. 3, Option ID :- 767,

. 4, Option ID :- 768,
Answer Given:- 2, Option ID : -766

What is the octal equivalent of decimal number 16 ?

TYHEE HEAT 16 %1 T=THR TAqed 9@ %H W § ?
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Question ID:- 193

Who has received the 2022 Tyler prize for Environmental Achievements ?
(1) Greta Thunberg

(2) Jane Goodall
(3) Saalumarada Thimmakka
(4) Sir Andy Haines

ARy HeiHt SuefeEl & fIw 2022 #1 TEER YUER (Tyler prize) 78 faen ?

(1) T o=

(2) S e

(3) HIIHET foreernl
(4) T US BEH
Options:-

.1, Option ID :- 769,
. 2, Option ID :- 770,
. 3, Option ID :- 771,
. 4, Option ID :- 772,
Answer Given:- 1, Option ID : -769

Fa 41 HD)--— 104
ucstiulTou.= 195

In which of the following countries an Indian Origin Leader became the Prime Minister in December
2022 ?

(1) Israel

(2) United Kingdom
(3) Ireland
(4) Brazil

fegmar, 2022 # Frfafed | 9 fFg Su &1 gaFH= wRdE ga &1 5 &1 8 2

(1) SSHEe

(2) FAEeE fahTeH
(3) SEls
dﬁﬁons:-S :

.1, Option ID :- 773,
. 2, Option ID :- 774,
. 3, Option ID :- 775,
. 4, Option ID :- 776,
Answer Given:- 1, Option ID : -773

Question ID:- 195
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What was the theme of the second United Nations World Geospatial Information Congress
(UNWGIC) held in Hyderabad from 10 - 14 October 2022 ?

(1) “Geo-Enabling remote Villages across the World”

(2) “Geo-Enabling Global Villages : Several Villages, One Earth”

(3) “Geo-Enabling the Global Village : No one should be left behind”
(4) “Geo-Enabling the Global Village with Alpha Generations”

TEUEE H 10 - 14 3R, 2022 H §E T JARSE v doe fearafoae ShiHeH &g (UNWGIC) &
ofm =11 o1 ?

(1) “for wifse e faafsy s g o

(2) ‘o wfsein e faatsst : Seve faetfas o s1d”’

(3) ‘“fe wfee & eiee e 9 g ot o faeEs”

(4) ‘o wifse g weee faers fag stew s

Options:-

.1, Option ID :- 777,

. 2, Option ID :- 778,

. 3, Option ID :- 779,

. 4, Option ID :- 780,
Answer Given:- 3, Option ID : -779

Question 1D:- 196

Ambikasuthan Mangad won the 2022, Odakkuzhal award for which of the following works ?
(1) Pranavayu

(2) Rathri
(3) Sadharana Veshangal
(4) Jeevithathinte Mudra

AftampT YA IS J 2022 F Sieapod oare g #m * fog Sfar & 2

(1) HmEry

(2) Tl

(3) IR ATMTA
O%Lt?ons:- m HET

.1, Option ID :- 781,
. 2, Option ID :- 782,
. 3, Option ID :- 783,
. 4, Option ID :- 784,
Answer Given:- 3, Option ID : -783

Question ID:- 197
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Which of the following States won the UN-Habitat's World Habitat Awards 2023 for Slum
Upgradation Program ?

(1) Maharashtra

(2) West Bengal
(3) Himachal Pradesh
(4) Odisha

T ATIEYE Y % fou 3w ¥feeey ace g ware frefafes § 9 e v A S 2
(1) TERT

A

(2) Ufv=m |

(3) fewm=et yew

(4) siifesm
Options:-

.1, Option ID :- 785,
. 2, Option ID :- 786,
. 3, Option ID :- 787,

. 4, Option ID :- 788,
Answer Given:- 2, Option ID : -786

Question 1D:- 198

On January 1, 2023 Croatia replaced its historic currency with the Euro. Which currency was
used before shifting to Euro ?

(1) Kuna
(2) Krona
(3) Ruble
(4) Franc

01 Sa, 2023 %1 ShITferEn = 7ol Ufderfees a1 & &M 9 g0 &1 AT | G4 S99 § 98l I
i i HgT S YA Il A1 ?

(1) &
(2) R
(3) ®=
NV

.1, Option ID :- 789,
. 2, Option ID :- 790,
. 3, Option ID :- 791,
. 4, Option ID :- 792,
Answer Given:- 2, Option ID : -790

Question ID:- 199
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Who among the following won the first-ever silver medal for India in the World Blitz Chess
Championship held in Almaty, Kazakhstan in December 2022 ?

(1) Hanika Dronavalli

(2) Padmini Rout
(3) Koneru Humpy
(4) Soumya Swaminathan

fegar, 2022 # TR, FHomEwH § A ace fearest =9 JfzAfin § 9Rd & fau gee aR o0 9e&
frefafaa § § ferem sfar 2

(1)  &fert gromereet

(2) vefHHT Ted

(3) hIE B

(4)  Hre A
Options:-

.1, Option ID :- 793,
. 2, Option ID :- 794,
. 3, Option ID :- 795,

. 4, Option ID :- 796,
Answer Given:- 3, Option ID : -795

Question 1D:-200

Which among the following is the official Mascot of the FIFA Women's World Cup scheduled to be
held in Australia and New Zealand in 2023 ?

(1) ‘Ettie’

(2) ‘Tazuni’

(3) ‘Hua Mulan’
(4) ‘Shume’

T 2023 H A iR =sicie H B a1 Wit dieen fovg 9 &1 snfusmiie gust # 8 ?
(1) ‘U’ (Ettie)

(2) ‘@A (Tazuni)

(3) ‘83 HM' (Hua Mulan)

O%Lt?ons:‘-@, (Shume)

.1, Option ID :- 797,

. 2, Option ID :- 798,

. 3, Option ID :- 799,

. 4, Option ID :- 800,
Answer Given:- 3, Option ID : -799

Subject : RA_Q51-Q70 PRTMUSIC
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Question ID:- 201

There is a certain relation between two given words on one side of : : and one word is given on
another side of : : while another word is to be found from the given alternatives, having the same
relation with this word as the given pair has. Select the correct alternative.

Push : Pull : : Floor : ?

(1) Roof

(2) Pillars
(3) Walls
(4) Window

7 % gl AR feu T vred] & et e fomiy Hew 7 SR 7 % gl iR we wes fem ) A few g
faeredi § ¥ UL TH &2 1 997 whiteg Foet 39 vree 9 9@ T4 & 51 fou T vs-gm & &= 8 2
ehel : EiaAl ;I ?

(1) =d
(2 @™
(3) <R
(4) faegH
Options:-

.1, Option ID :- 801,
. 2, Option ID :- 802,
. 3, Option ID :- 803,

. 4, Option ID :- 804,
Answer Given:- 4, Option ID : -804

Question 1D:- 202

In a certain code language, if TINACTIVE' is written as ‘NIACITVE'. How would “ORIENTAL’ be
written in that code ?

(1) TVNEITAP

(2) ORNEITAL
(3) ROIETNAL
(4) TVNIEATP

e Hiqud %2 91 H A INACTIVE &l ‘NIACITVE' % 9 ¥ for@n S &, a1 ‘ORIENTAL’ i 39 e
ot | forg wepr foran e ?

(1) TVNEITAP

(2) ORNEITAL

(3) ROIETNAL

dhlons: TVNIEATP

.1, Option ID :- 805,

. 2, Option ID :- 806,
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. 3, Option ID :- 807,

. 4, Option ID :- 808,
Answer Given:- 3, Option ID : -807

Question ID:- 203

Four words have been given, out of which three are alike in some manner, while one is different.
Choose the odd one.

(1) Talking

(2) Swimming
(3) Running
(4) Jogging

=R weg feu ¥ f8 9§ 9 v fadt 7 fondlt &9 8 9 § wafe e vee o= ) e wiee o =
Hifery |

(1) @

(2) qUH

(3) =

(4) EH = "o T
Options:-

.1, Option ID :- 809,
. 2, Option ID :- 810,
. 3, Option ID :- 811,

. 4, Option ID :- 812,
Answer Given:- 1, Option ID : -809

an:ﬁnn 1D:- 204

Piyush is facing South-West. He turns 135" in the anti-clockwise direction and then 225° in the
clockwise direction. Which direction is he facing now ?

(1) North-West

(2) West
(3) South
(4) East

919 1 4g Sfe-ufvas Fi &K T ) 98 anred fewn | 135° HHa § @R fr 225° feqomed faen | g9 €
319 39! He fow fomm =6t ein @2

(1) 3IT-ufe=m
(2) wR=M
(3) afm
clpkions T3

.1, Option ID :- 813,
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. 2, Option ID :- 814,
. 3, Option ID :- 815,

. 4, Option ID :- 816,
Answer Given:- 2, Option ID : -814

Question ID:- 205

Mohit, Ravi and Jatinder are Bowlers, Ravi, Rajesh and Govind are Wicket-keepers, Mohit, Govind

and Rajesh are Batsmen and Ravi, Mohit and Rajesh are Fielders.
Who is Wicket-keeper and Batsmen but not Bowler and Fielder ?

(1) Mohit
(2) Govind
(3) Rajesh
(4) Ravi

Hifed, o iR Sfoy Tigarsr; fa, Tom AR M fokenta; Aifed, Tifa< iR TS aecters o1 19,

Hifed =i TS &R ¥
TH W HA foehe IR T decrars ¢ fohg Tgamst 3R aprers 7el &2
(1) ifed

(2) Tifa=

(3) T

(4) W
Options:-

.1, Option ID :- 817,
. 2, Option ID :- 818,
. 3, Option ID :- 819,
. 4, Option ID :- 820,
Answer Given:- 1, Option ID : -817

Question 1D:- 206

There are two statements labelled Assertion (A) and Reason (R).
Assertion (A) : We prefer to wear white clothes in summer.

Reason (R) : White clothes absorb heat.

Mark your answer as per the codes given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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3w € TR rfirerem (A) iR ek (R) & &7 § Twiian 70 §
TR (A) :  BH TH H HHE FHIS T8 bl 1fHehdl <d 2 |
e (R) : Hihe HUS F1 & 9Ed § |

== feu 7T ®Te & SFER 3191 SR Hfhd Hife

(1) (A) 3R (R) i, T € @R (R) (A) 1 Tl ST &

(2) (A) 3R (R) SF T € fhg (R) (A) T HET Tediehao & ©
(3) (A) T T 3 (R) 19
(4) (A) A T 3 (R) T

Options:-

.1, Option ID :- 821,
. 2, Option ID :- 822,
. 3, Option ID :- 823,

. 4, Option ID :- 824,
Answer Given:- 1, Option ID : -821

Question ID:- 207

A question is given below, followed by two statements numbered I and II each containing some
information. Decide which of the statements are sufficient to answer the question.

Q: Raman’s salary is 60% that of Sachit’s salary ? What is salary of Raman ?

Statement I:  Sachit’s salary is Rs. 78000/-

Statement II : Raman’s salary and Sachit’s salary are in ratio 3 : 5
(1) The statement I alone is sufficient to answer the question while the statement II alone is not

sufficient to answer.

(2) The statement II alone is sufficient to answer the question while the statement I alone is not

sufficient to answer.

(3) Both the statement I and II together are necessary to answer the question.
(4) Both the statement I and II together are not sufficient to answer the question.

= wek WA fen e € e e sherm-1 SR 11 ey e € foeH wess | e sree & W € 1 J' o

HifeT for HF-HVT FU7 999 H1 ST 27 & fag 1aia 22

. THA o dd |G & 9d9 o1 60 9 € | T 1 Sad foha1 & 2

weA1:  Gfed & 99 78000/- ®IT 2|
HATI:  TFH & 9o IR |fed & Sa7 &1 96 3 : 5 7|

(1) 3TFct HAA-1 & U7 &1 3T < & oIl Ta & STafeh 3fhel sheF-11 U9 &l 3L a1 o ol Jare

T 7

(2) @Thel heM-11 & W9 &1 IW <7 & ol T § Safh 3Thel sheM-1 99 &l 3T e & fag v

TR

(3) heM-1 IR HUF-II, I A1y HeTet T o 3T <4 & fau s7avas §
Ahons THI-1 SR HYF-11, 1 T ety off wed 1 S 4 o forg oot =i €
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.1, Option ID :- 825,
. 2, Option ID :- 826,
. 3, Option ID :- 827,

. 4, Option ID :- 828,
Answer Given:- 4, Option ID : -828

Question ID:- 208

(1) 2
(2) 3
(3) 4
(4) 5

1 2
(2) 3
(3) 4
4) 5
Options:-

.1, Option ID :- 829,
. 2, Option ID :- 830,
. 3, Option ID :- 831,

. 4, Option ID :- 832,
Answer Given:- 4, Option ID : -832

How many 4's are there which are neither preceded by 7 nor followed by 1 ?
2,1,7,4917,41,3,4,8,57,41,4,3.

Tt frai dend 4 Efr A A7 A e iR a ae §1’ ?
21,749 7, 41,3485 7 4143

The following diagram shows the number of persons reading different books. Find the numbers of
persons who are reading exactly two books ?

Fiction —>» 4— Novel

<— Autobiography

(1) 48
(2) 51
(3) 54
4) 57
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Frafafad smi@ 37 SAfedl &1 @ & S 8 S -7 T 9ed ¢ | 39 At o 9@ 9
I S F2%h €Y § T [k 98 W @ 2

HAH —>

A
o

(1) 48
(2) 51
(3) 54
(4) 57
Options:-

.1, Option ID :- 833,
. 2, Option ID :- 834,
. 3, Option ID :- 835,

. 4, Option ID :- 836,
Answer Given:- 2, Option ID : -834

Question ID:- 210

Six friends A, B, C, D, E and F are sitting on the ground in hexagon shape facing outside and not
facing the centre of hexagon. ‘C’ is sitting second left of ‘B’. ‘D’ is immediate left of ‘B’. ‘A’ is
sitting between ‘E" and “F’. ‘A’ is sitting immedjiate left of ‘F’.

Who is sitting opposite to ‘A" ?

(1)

N
Ho O o

(2)
(3)
(4)

=

FE A, B, C, D, E iR F USYS STHR H 3T% &5 i IR HE 7 Hich ded i IR §g Hleh SHH T 93
£1°C, "B’ % 91 IR W WH W12 | ‘DY, ‘B’ % THeH a1E AR ISR | ‘A, 'E' a1 ‘F F =9 H 31 T
‘A, ‘F' % THSH 918 3R 931 & |

‘A’ F G HE A1 8 ?
(1) B
(2 C
(3) D

Jptlons: &

.1, Option ID :- 837,
. 2, Option ID :- 838,
. 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 4, Option ID : -840
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Question ID:- 211

Six friends A, B, C, D, E and F visit NSS office on consecutive Mondays not necessarily in the same
order. ‘A’ visits the office a week before ‘E’. “‘C’ does not visit the office at second position. ‘B’ visits
the office after the visit of ‘F'. ‘D’ visits the office on fifth Monday and is not preceded by B. Eis not
the last to visit the office.

Who, among them, is the last to visit the office ?

() E
(2) C
() B
4) A

38 3 A, B, C, D, E 3R F @aR HiFaRl &l TF TH TH (NSS) Sifhg &1 QR Td © fohq 391 %9 H &
TE 1A, E H U IWie Ued SfRY Sl €1 °C S T W R 6 S 81 B, F % §H % 915
HIFE STl 1 D Tied WIaR 1 SATES S 8 &R ‘B 399 TheH Ugel HITaR 1 T8 o € | ‘E Te
FHa H SAffRE 78 S g

TTH | hH Ha 3fq § Y S €2

() E
(2) C
(3 B
4) A
Options:-

.1, Option ID :- 841,

. 2, Option ID :- 842,

. 3, Option ID :- 843,

. 4, Option ID :- 844,

Answer Given:- 3, Option ID : -843

Question ID:- 212

In a given letter series, some of the letters are missing which are given in that order as one of the
alternatives below it. Choose the correct alternative.

no_ _nom__0 0 _0_0O

(1) nomomon
(2) nmoomnn
(3) moonmnm
(4) mononom
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e < T 90 SEen H§ $9 99 o ¢ o A fou MU U fashey % w9 H 36 A H fom o ¥ | 9E fawe
1 T HIF |

no_ _nom__0 .0 00

(1) nomomon

(2) nmoomnn

(3) moonmnm

(4) mononom
Options:-

.1, Option ID :- 845,
. 2, Option ID :- 846,
. 3, Option ID :- 847,

. 4, Option ID :- 848,
Answer Given:- 1, Option ID : -845

Question ID:- 213

In a certain code language, ‘go for walk’ is written as “bin tin win’; ‘good for health” is written as
‘win cin pin’ and ‘good to walk’ is written as ‘pin bin fin’. How ‘health’ is written in that
language ?

(1) cin
(2) pin
(3) win
(4) bin

e HIq9d %2 T H ‘go for walk’ %l ‘bin tin win'# ¥ H 3T good for health’ %1 ‘win cin pin’ % &Y
H 3iR “good to walk’ 3l ‘pin bin fin’ % ¥4 H fer@l ST 2, T ‘health’ 1 38 91 § fog yar foman
S ?

(1) cin
(2) pin
(3) win
(4) bin
Options:-

.1, Option ID :- 849,
. 2, Option ID :- 850,
. 3, Option ID :- 851,
. 4, Option ID :- 852,
Answer Given:- 4, Option ID : -852

Question ID:- 214
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You are given three statements showing relationship followed by two conclusions, [ and II. Assuming
that the given statements are true, find out which conclusions is (are) definitely true ?

Statements : A=2C=G, C>K=P, K=5<T
Conclusions I: A<P
II: S<C

(1) If only conclusion I is true.
(2) If only conclusion II is true.
(3) If neither conclusion (I) nor (II) is true.
(4) If both conclusions (I) and (II) are true.

S9! HaY g o s fou mu ¥ fomek arg < fremd 1 siiR 11 few o § 1 =g v g fe feu T e
Heq €, 98 vd1 Sifee fF o 9 frerd e s 9 g 82

he A=C=G, C>K=P, K=5<T

frepw1: A<P
I: S<C
(1) hae fremd 1907 ©
(2) FHad frere 119
(3) fTrerd 1 iR 118 @ FiE oft g 7
(4) Trewd1 i 1 M, 9
Options:-

.1, Option ID :- 853,
. 2, Option ID :- 854,
. 3, Option ID :- 855,

. 4, Option ID :- 856,
Answer Given:- 1, Option ID : -853

Question 1D;- 215

‘Px Q" means P is wife of Q, ‘P+ Q" means P is son of Q, ‘P+ Q" means ‘P’ is husband of ‘Q" and
‘P—Q" means ‘P’ is mother of Q.

If ' B+=D+C—A’, how ‘B’ is related to ‘A" ?

(1) Father
(2) Son

(3) Brother
(4) Uncle
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PxQHAATTF P, QH TH &GP+ Q FAATF P, QF T P+Q waAd e fF P, Q
1 9fd € qU1'P—Q o 314 & foh P, ‘Q i T ¥
Ifg B+ D+C—A’ T @B HIA’ F 1 Hoiy § 2

(1) fo
2 9w
(3) W
(4) ==
Options:-

.1, Option ID :- 857,
. 2, Option ID :- 858,
. 3, Option ID :- 859,

. 4, Option ID :- 860,
Answer Given:- 2, Option ID : -858

Question ID:- 216

Letters of the word given below have been jumbled up and each letter has been assigned a number.
Select the combination of numbers so that the letters as arranged accordingly will form a meaningful
word.

D E R P T C 1
1 2 3 4 5 6 7
(1) 7461325
(2) 4671523
(3) 4321765
4) 6347521

g fou 7T vreg & 1eR STeTafted 81 U € 91 Ueies 21eR &1 Usk He fauifa =Y 0 1 39 Hen gane
1 = ity o8 STER 211 ] SHafed fhy M W HIE el I = |

D E R P T C 1

1 2 3 4 5 6 7

(1) 7461325

(2) 4671523

(3) 4321765

(4) 6347521
Options:-

.1, Option ID :- 861,
. 2, Option ID :- 862,
. 3, Option ID :- 863,
. 4, Option ID :- 864,
Answer Given:- 3, Option ID : -863

Question ID:- 217
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Given below are two statements followed by two conclusions numbered I and II. You have to take
the given two statements to be true even if they seem to be at variance from commonly known
facts. Read the conclusions and then decide which of the given conclusions logically follows from
the two given statements.

Statements I : All men are educated.
Some men are foolish.
Conclusions : I: Some educated are foolish.
II: Some foolish are educated.

(1) Only conclusion I follows.

(2) Only conclusion II follows.

(3) Neither conclusion I nor II follows.
(4) Both conclusions I and II follow.

== 21 sher feu T € fomek e Fewd 1 3R 11 feu e 2 | S1ent SH1 %l &1 96 5T € 91k 9 |JH
1 qei @ fa= & 9 9 21 1 Freeut &t ufge 2R fse == ol #ifse f e fog o fresel § 9 $m-31
H feu wu ST oAl 9 aifhes 9 9 fepcar &/Fed B

wmad : wfi e T §
FOTEIE T
g 1: T fafaa gd €
I1: o qd fafea g
Fae freerd 1 fFererar &

(1)

(2) hee e 11 frereran @

(3) 1 i Tkl 1 7 €1 Frewdd 11 Frpaan @

(4) Temd 1 3R 11, < freretd €
Options:-

.1, Option ID :- 865,
. 2, Option ID :- 866,
. 3, Option ID :- 867,
. 4, Option ID :- 868,
Answer Given:- 4, Option ID : -868

Question ID:- 218

A word has been given, followed by four other words, only one of which can be formed by using
the letters of the given word. Find that word.

INTERNATIONAL
(1) TERMINAL

(2) RETENTION
(3) ORIENTAL
(4) TENSION
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e =g ez e € foraes e 9w fasrey fou o € f9 9 fou 7o wsg & 31endil =1 AT e i S S
ST Hhdl € 9 5 1A i |

INTERNATIONAL

(1) TERMINAL

(2) RETENTION

(3) ORIENTAL

(4) TENSION
Options:-

.1, Option ID :- 869,
. 2, Option ID :- 870,
. 3, Option ID :- 871,

. 4, Option ID :- 872,
Answer Given:- 2, Option ID : -870

Question ID:- 219

Chirag is son of Anita. Sameer is son of Vimla. Divya is sister of Sameer and Vimla is daughter of
Anita. How is Anita related to Divya ?

(1) Mother

(2) Sister
(3) Aunt
(4) Grandmother

Terr, erfian =1 931 § | R, famen =1 g7 ) T, aR it 9o § qun fagen, o ) gt § 1 o @
feon & = e 8 2

(1)
(2) &
(3) ==
(4)
Options:-

.1, Option ID :- 873,
. 2, Option ID :- 874,
. 3, Option ID :- 875,
. 4, Option ID :- 876,
Answer Given:- 4, Option ID : -876

Question ID:- 220
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Choose from the following diagrams, the one that depicts the correct relationship among the three
classes give below :

Cricket, Volley Ball, Games

Frefafad a7 s@l # ¥ 39 g i fau 7o 6= a1 & o= §99 & gaad §9 9 HEiua & )

(1)
@ o
Optlons .

.1, Option ID :-
. 2, Option ID :- 878,
. 3, Option ID :- 879,

. 4, Option 1D :- 880,

Answer Given:- 4, Option ID : -880
Subject: CL_Q71-
Q80_PRTMUSIC

Question ID:- 221
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Which of the following options is the most easily understandable language by a computer
system ?

(1) Binary language

(2) High level language

(3) Hexadecimal language
(4) Programming language

Treafafed | 9 & o1 fasheq fordt Sraget qonel g Haifas STEmE § 9931 STare 91 (efves) & 2
(1) fgememrl o (Binary language)
(2) 3¥= T T (High level language)
(3) HIEW ER 9 (Hexadecimal language)
(4) YR 9T (Programming language)
Options:-
.1, Option ID :- 881,
. 2, Option ID :- 882,
. 3, Option ID :- 883,

. 4, Option ID :- 884,
Answer Given:- 1, Option ID : -881

Question 1D:- 222

Identify the devices, that help a user to communicate with computer systems :

(1) RAM
(2) ROM
(3) Input and output devices
(4) Secondary storage devices

34 fearg %I ygam Hifse St forddt we F1 FFeE yoel § §y90 H e i § 2
(1) T (RAM)

(2) A (ROM)

(3) TAYE IR 3MReYe feary

(4) Hhel B fearg

Options:-

.1, Option ID :- 885,

. 2, Option ID :- 886,

. 3, Option ID :- 887,

. 4, Option ID :- 888,

Answer Given:- 1, Option ID : -885

Question ID:- 223
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(1) Megabits per second
(2) Micro bits per system
(3) Megabits per scheme
(4) Micro bits per structure

P T Frearaet| H Mbps 1 314 © :
(1) Megabits per second
(2) Micro bits per system
(3) Megabits per scheme
(4) Micro bits per structure
Options:-
.1, Option ID :- 889,
. 2, Option ID :- 890,
. 3, Option ID :- 891,

. 4, Option ID :- 892,
Answer Given:- 4, Option ID : -892

In computer terminology, Mbps stands for :

Question ID:- 224

The device UPS stands for :
(1)

=

Unbroken Power System

(2) Undisturbed Power Supply
(3) Unbreakable Power System
(4)  Uninterruptible Power Supply

g Ty wg feamg #1914 & :

(1) Unbroken Power System
(2) Undisturbed Power Supply
(3) Unbreakable Power System

(4) Uninterruptible Power Supply
Options:-

.1, Option ID :- 893,
. 2, Option ID :- 894,
. 3, Option ID :- 895,
. 4, Option ID :- 896,
Answer Given:- 1, Option ID : -893

Question ID:- 225
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Which of the following is most preferred port compared to other available options for High Quality
Audio-Video output from a laptop ?

(1) VGA
(2) LAN
(3) USB
(4) HDMI

T 92l § B Fael sifea-difedl seeye & fau 3= Iuasy fasmedl i qa1 § qaifes add e
FHATAE?

(1) = ST (VGA)

(2) TATT (LAN)

(3) ¥ UH Sl (USB)

(4) TF < T S (HDMI)
Options:-

.1, Option ID :- 897,
. 2, Option ID :- 898,
. 3, Option ID :- 899,

. 4, Option ID :- 900,
Answer Given:- 3, Option ID : -899

Question 1D:- 226

Which of the following is one of the standard file extensions of a music (audio) file ?

(1) Jrg
(2) .doc
(3) .pdf
(4) .wav

foredt =fSier (&iifesll) wea &1 U 9Me $ied fasr Fefafag s A FR w e ?
1) jrg
(2) .doc
(3) .pdf
O(sl? .wav
tions:-
.1, Option ID :- 901,
. 2, Option ID :- 902,
. 3, Option ID :- 903,
. 4, Option ID :- 904,
Answer Given:- 2, Option ID : -902

Question ID:- 227
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2

+

) Alt

(
(1
(2
(3) Alt
(4

Options:-

The most popular combination of short cut keys to copy some selcted text and paste the same at
some other location in most of the MS office document is :

(1) Alt+c&Alt+v
(2) Ctal+c&Ctrl+v
(3) Alt+v& Alt+c
(4 Ctul+v&Ctl+c

Hfushie TH U9 AR SagHe § $ 997 fRT 0 2R &1 HM (copy) F iR 39 fRel 371 s T
paste)?ﬂﬁ%@ﬂaﬁ%ﬁ?ﬁmvﬂéaﬁﬁ—m%:

) Ctol+c&Ctrl+v

) Cul+v&Ctrl+c

.1, Option ID
. 2, Option ID :- 906,
. 3, Option ID :- 907,

. 4, Option ID :- 908,
Answer Given:- 4, Option ID : -908

+c& Alt+v

+ v & Alt+ ¢

- 905,

(4) Pho
Options:-

.1, Option ID

. 4, Option ID
Answer Given

Question ID:-

Question 1D~ 228

Which of the following is a popular Audio Editing Software ?
(1) McAfee

(2) Audacity

(3) AutoCAD

(4) Photoshop

Freafafed 5 4w i sifed-uEifdn gieam #H e ?
(1) McAfee

(2) Awudacity

(3) AutoCAD

. 2, Option ID :-
. 3, Option ID :-

toshop

:- 909,
910,
911,
- 912,
:- 3, Option ID : -911

229
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Identify the type of cybersecurity attack from the following options, in which, malicious attackers
send messages pretending to be a trusted person or organisations to manipulate a receiver, ask
them to perform actions like installing a malicious file or software, or clicking a malicious link, or
divulging sensitive information, etc.

(1) Trolling

(2) Bullying

(3) Phishing

(4) Plagiarism

frfafad fasmedl § 9§ et Giar STRAY & YR i 89 ity foad fagugol sermoesal (37ea)
ot graepat (RdeR) ¥ 56 & & fae v favargsrs safad =1 9ne et 39 99 § i 39
fagwgul e a1 HiredH 3R w1 A1 frdl guieayyl fos W faers e sya Sageiel SRl Fam
3fe S8 M H & fow Fear 2

(1) 2T (Trolling)

(2) FfET (Bullying)
(3) THRIT (Phishing)
(4) ARTTE (Plagiarism)
Options:-
.1, Option ID :- 913,
. 2, Option ID :- 914,
. 3, Option ID :- 915,

. 4, Option ID :- 916,
Answer Given:- 1, Option ID : -913

Onestion1HD-——220
uestaon o =239

In the web browsing protocol, https, the s stands for

(1) Secure of secured

(2) Service or serviced

(3) System or software

(4) Structure or structured

o9 BT UIerehiel https Hs 1 &1
(1) Secure & secured

(2) Service ¥ serviced

(3) System T software

d&)o ne-Otructure Al structured

.1, Option ID :- 917,
. 2, Option ID :- 918,
. 3, Option ID :- 919,
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. 4, Option ID :- 920,
Answer Given:- 2, Option ID : -918

Subject : PRT_Music_Q81-

Q180_PRTMUSICQuestion ID:- 231

(1) Bharata

(2) Ramamatya
(3) venkatamakhi
(4) Saranga Deva

A FAMY & g :

(1) ¥

(2) HHEH

(3) dwenfE

(4) YTETRE
Options:-

.1, Option ID :- 921,
. 2, Option ID :- 922,
. 3, Option ID :- 923,

. 4, Option ID :- 924,
Answer Given:- 4, Option ID : -924

Author of Swaramela Kalanidhi :

The word “Laggi” is related to :
(1) Sruti

(2) Swara
(3) Raga
(4) Tala

=g ‘et fred Hefud ®
(1) o

(2) T

(3) T

dﬁli)ons:m

.1, Option ID :- 925,

. 2, Option ID :- 926,

. 3, Option ID :- 927,

. 4, Option ID :- 928,
Answer Given:- 1, Option ID : -925
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Question ID:- 233

Identify the raga commonly used in Hindustani and Karnatic music :
(1) Hamsadhwani

(2) Kamod
(3) Deshkar
(4) Ramkali

fegeart &R FAfes Tiiid § S¥eR Y3rT & arel I 6l T8
(1) =9

-~

(2) HHEE
(3) TR
(4) THeRfA

Options:-

.1, Option ID :- 929,
. 2, Option ID :- 930,
. 3, Option ID :- 931,

. 4, Option ID :- 932,
Answer Given:- 1, Option ID : -929

O 41 H)-—9224
YUCSUUIN 10 .= 205

Aroh and Avaroh is important for :
(1) Instrument

(2) Raga

(3) Sruti

(4) Tala

SRIE IR 37aiE freh fom smewaes 8 7
(1) ==

(2)

(3) fd
C‘ﬁli)ons:—m?’T

.1, Option ID :- 933,
. 2, Option ID :- 934,
. 3, Option ID :- 935,
. 4, Option ID :- 936,
Answer Given:- 2, Option ID : -934

Question ID:- 235
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Identify the musical form :

(1) Rupak
(2) Jhoomra
(3) Dhrupad
(4) Nyas
U THAT i TEHHT
(1) ®9%
(2) =50
(3) A
(4)
Options:-

.1, Option ID :- 937,
. 2, Option ID :- 938,
. 3, Option ID :- 939,

. 4, Option ID :- 940,
Answer Given:- 1, Option ID : -937

Question I1D:- 236

The word “Alpatva” is related to :
(1) Tala

(2) Laya

(3) Raga

(4) Dhrupad

Yree e fered wwiftd € 2
(1)

(2) <=

(8)

(4)
Options:-

.1, Option ID :- 941,
. 2, Option ID :- 942,
. 3, Option ID :- 943,
. 4, Option ID :- 944,
Answer Given:- 4, Option ID : -944

Question ID:- 237
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Identify the That :

(1) Bilawal

(2) Bhupali

(3) Sohani

(4) Panjabi

oTe T AT

(1) foeEa

(2) i

(3) wmef

(4) S
Options:-

.1, Option ID :- 945,
. 2, Option ID :- 946,
. 3, Option ID :- 947,

. 4, Option ID :- 948,
Answer Given:- 4, Option ID : -948

Question 1D:- 238

Select the total number of melas in Karnatic music :

(1) 52

(2) 72

(3) 63

(4) 68

HATesh it | Hal o Fa HeAl sl g
(1) 52

(2) 72

(3) 63
B

.1, Option ID :- 949,
. 2, Option ID :- 950,
. 3, Option ID :- 951,
. 4, Option ID :- 952,
Answer Given:- 2, Option ID : -950

Question ID:- 239
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Select the Tala from the following :
(1) Hindol

(2) Moorchana
(3) Brahma

(4) Paraj

frefafes § ¥ ae ® 96 ;
(1) fe<ra

(2) Hq

(3) W

(4) W

Options:-

.1, Option ID :- 953,
. 2, Option ID :- 954,
. 3, Option ID :- 955,

. 4, Option ID :- 956,
Answer Given:- 3, Option ID : -955

-+

Options:-
.1, Option ID

. 4, Option ID
Answer Given

. 2, Option ID :-
. 3, Option ID :-

Question ID:- 240

Identify the term related to creative music :
(1) Tilwada

(2) Ragalap

(3) Pancham Sawari

(4)

Thumri

T Gfd § Gefea 9eg & Tedg
(1) Teererer

(2) TS

(3) 9= e
(4

- 957,
958,
959,

:- 960,
:- 3, Option ID : -959

Question ID:- 241
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Peshkaras are related to :

(1) Swara
(2) Mela
(3) Tala
(4) Musical form
SR fered HwEfHd © 2
() =&
(2 59
(3)
(4) g A
Options:-

.1, Option ID :- 961,
. 2, Option ID :- 962,
. 3, Option ID :- 963,

. 4, Option ID :- 964,
Answer Given:- 1, Option ID : -961

Question 1D:- 242

Select the corresponding raga of Hindolam in Hindustani music :

(1) Malkauns
(2) Bilawal
(3) Kafi

(4) Todi

Tegeart Hiiid § fe=<iem I =1 ger-rerss T =1 g :
(1) WIe=hd

(2) foeraa

(3) HIfE

(4) dife
Options:-

.1, Option ID :- 965,
. 2, Option ID :- 966,
. 3, Option ID :- 967,
. 4, Option ID :- 968,
Answer Given:- 3, Option ID : -967

Question ID:- 243
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Jababi paran is :
(1) One of the tala

(4) TH TTER
Options:-

.1, Option ID :- 969,

. 2, Option ID :- 970,

. 3, Option ID :- 971,

. 4, Option ID :- 972,
Answer Given:- 2, Option ID : -970

(2) One of the mela

(3) One of the instrument
(4) One of the composer
Sfaifel T L ?

(1) T&

(2) T HA

(3) Tk 9l

Question ID:- 244

Murchana means :

(1) Swara

(2) Laya

(3) Aroh and Avaroh
(4) Tala

(1) =R
(2) «A
(3) oTNIB 3N 3
(4) et
Options:-

.1, Option ID :- 973,
. 2, Option ID :- 974,
. 3, Option ID :- 975,
. 4, Option ID :- 976,
Answer Given:- 1, Option ID : -973

Question ID:- 245
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Select the layakari :

(1) Gram

(2) Ada

(3) Laxmi

(4) Basant
TAIHIL I E\[f:l'Q -
(1) 9™

(2) ==

(3) wifew

(4) =
Options:-

.1, Option ID :- 977,
. 2, Option ID :- 978,
. 3, Option ID :- 979,

. 4, Option ID :- 980,
Answer Given:- 3, Option ID : -979

Question ID:- 246

Author of Sangeet Ratnakar :
(1) Saranga Deva

(2) Bharata

(3) Matanga

(4) Jaya Deva
fid TR 6 TG
(1) vRT<E

(2) w@

(3) HE@T

(4) “ECE
Options:-

.1, Option ID :- 981,
. 2, Option ID :- 982,
. 3, Option ID :- 983,
. 4, Option ID :- 984,
Answer Given:- 3, Option ID : -983

Question ID:- 247
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Select the Achala Swara :
(1) Rishabha

(2) Gandhara
(3) Panchama
(4) Nishada
3T=el W & g
(1) fuy
(2) TmrER
(3) =Y
(4) fom=

Options:-

.1, Option ID :- 985,
. 2, Option ID :- 986,
. 3, Option ID :- 987,

. 4, Option ID :- 988,
Answer Given:- 3, Option ID : -987

Question ID:- 248

Bahutva is related to :

(1) Swara

(2) Laya

(3) Tala

(4) Mela

g forgd deifyd &2
(1) =R

(2) <=

(3) dr
O([‘JLt?ons:.-ﬁﬁ'T

.1, Option ID :- 989,
. 2, Option ID :- 990,
. 3, Option ID :- 991,
. 4, Option ID :- 992,
Answer Given:- 2, Option ID : -990

Question ID:- 249
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(1) Tyagaraja

(2) Ramadasa
(3) Purandara Dasa
(4) Syamasastri

AT Hifld &1 Yalfe T drel &1 9i=gd feee famn ?
(1) TR

(2) THEH
(3) Y& TH
(4) wEWE

Options:-

.1, Option ID :- 993,
. 2, Option ID :- 994,
. 3, Option ID :- 995,

. 4, Option ID :- 996,
Answer Given:- 3, Option ID : -995

Suladi Sapta Talas of Karnatic music is introduced by :

Question 1D:- 250

In which raga the Komal Rishab is used ?

(1) Bhairav

(2) Malkauns

(3) Bilawal

(4) Bhupali

Fre foasy F 91 T § 9 g | 2
(1)

(2) HIEHE

(3) forerae
Y I

.1, Option ID :- 997,

. 2, Option ID :- 998,

. 3, Option ID :- 999,

. 4, Option ID :- 1000,

Answer Given:- 1, Option ID : -997

Question ID:- 251
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(1) Ramamatya

(2) Tansen
(3) Saranga Deva
(4) Matanga
T+ TRTHIEA o TGS i ¢ 2
(1) THHET
(2) dEA
(3) WIeE
(4) T
Options:-

.1, Option ID :- 1001,
. 2, Option ID :- 1002,
. 3, Option ID :- 1003,

. 4, Option ID :- 1004,
Answer Given:- 2, Option ID : -1002

The grantha Ragmala is written by :

Question 1D:- 252

(1) Somanath

(2) Narada

(3) Bharata

(4) Matanga

T foay & e i @ 2
(1) Frear

(2) TR

(3)
O(gt)ions:w

.1, Option ID :- 1005,
. 2, Option ID :- 1006,
. 3, Option ID :- 1007,
. 4, Option ID :- 1008,
Answer Given:- 4, Option ID : -1008

Question ID:- 253

Author of Raga Vibhodha :
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Trinity means :
(1) 4

(2) 6
3 3
4) 5

fefafe =1 =19 -
(1)
(2)
(3)
(4)
Options:-
.1, Option ID :- 1009,

Ul W O W=

. 2, Option ID :- 1010,
. 3, Option ID :- 1011,

. 4, Option ID :- 1012,
Answer Given:- 2, Option ID : -1010

Question 1D:- 254

How many kinds of Nadas are there in Indian music ?

1) 3

2) 6

(3) 2

4) 5

AT Hiitd § forae oo 3 g & 2
1) 3

(2) 6

3) 2
Sottons

.1, Option ID :- 1013,
. 2, Option ID :- 1014,
. 3, Option ID :- 1015,
. 4, Option ID :- 1016,
Answer Given:- 1, Option ID : -1013

Question ID:- 255
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In ancient period how many types of Gramas are existed ?

1) 3
(2) 6
(3) 5
(4) 8

YT e | fohd YR o U™ gfafed & ?

(1) 3
(2) 6
(3 5
(4) 8
Options:-

.1, Option ID :- 1017,
. 2, Option ID :- 1018,
. 3, Option ID :- 1019,

. 4, Option ID :- 1020,
Answer Given:- 4, Option ID : -1020

Question ID:- 256

Identify the Grantha of Venkatamakhi :
(1) Natya Sastra

(2) Raga Vibodha
(3) Chaturdandi Prakasika
(4) Brihaddesi
deheHlE & U9 I TEdly :
(1) <A A
(2) T fomny
(3) =qEve gwis
(4) forefa
Options:-

.1, Option ID :- 1021,
. 2, Option ID :- 1022,
. 3, Option ID :- 1023,
. 4, Option ID :- 1024,
Answer Given:- 1, Option ID : -1021

Question ID:- 257
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Identify the popular Sarod player :
(1) Ustad Vilayat Khan

(2) Sumati Mutatkar

(3) Ustad Ali Akbar Khan

(4) Inayat Khan

yfag Tlg aeeE & Ty,
(1) = faomd @

(2) AT FaTaH

(3) R el sTFeR @l
(4) A @l

Options:-

.1, Option ID :- 1025,
. 2, Option ID :- 1026,
. 3, Option ID :- 1027,

. 4, Option ID :- 1028,
Answer Given:- 3, Option ID : -1027

Question 1D:- 258

How many angas are there in Adi Tala of Karnatic music ?
(1) 6

2 3

3 5

@) 7

e Hiitd § snfeara § fordaq o7 8 € 2
1) 6

(2) 3

3 5
O([LJlt?ons:-7

.1, Option ID :- 1029,
. 2, Option ID :- 1030,
. 3, Option 1D :- 1031,
. 4, Option 1D :- 1032,
Answer Given:- 1, Option ID : -1029

Question ID:- 259
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(1) 1897

(2) 1624

(3) 1700

(4) 1802

qfed AHEHR MY 3 % g9F =l AU
(1) 1897

(2) 1624

(3) 1700

(4) 1802

Options:-

.1, Option ID :- 1033,
. 2, Option ID :- 1034,
. 3, Option ID :- 1035,

. 4, Option ID :- 1036,
Answer Given:- 1, Option ID : -1033

Select the period of Pandit Omkarnath Thakur :

Question ID:- 260

How many matras are there in Jhap Tal ?

(1) 14
(2) 12
(3) 10
(4) 18
Fqarel H fera Ammd gl € ?
(1) 14
2) 12
(3) 10
4 18
Options:-

.1, Option ID :- 1037,
. 2, Option ID :- 1038,
. 3, Option ID :- 1039,
. 4, Option ID :- 1040,
Answer Given:- 1, Option ID : -1037

Question ID:- 261
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Identify the tala which has 8 matras :
(1) Rupak Tal

(2) Kaharwa Tal

(3) Dadra Tal

(4) Jhap Tal

8 | B oTed ATl =Rl Y@=y :
(1) I q&
(2) heddl drd
(3) A
(4) =UdrA
Options:-
.1, Option ID :- 1041,
. 2, Option ID :- 1042,
. 3, Option ID :- 1043,

. 4, Option ID :- 1044,
Answer Given:- 2, Option ID : -1042

Question 1D:- 262

(1) Bilawal
(2) Bhupali
(3) Multani
(4) Todi

sirea-gequf shfd T 1 TR

(1) faeEs
(2) e
(3) Heww
(4) ifs
Options:-

.1, Option ID :- 1045,
. 2, Option ID :- 1046,
. 3, Option ID :- 1047,
. 4, Option ID :- 1048,
Answer Given:- 1, Option ID : -1045

Question ID:- 263

Identify the Audava-Sampurna Jati raga :
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(1) Raga
(2) Swara
(3) Sruti
(4) Tala

(1)
(2) ®H
(3) fd
(4)
Options:-

.1, Option ID :- 1049,
. 2, Option ID :- 1050,
. 3, Option ID :- 1051,

. 4, Option ID :- 1052,
Answer Given:- 4, Option ID : -1052

The word “Chougun” is related to :

Question I1D:- 264

The period of Faiyyaz Khan :

(1) 1702

(2) 1600

(3) 1886

(4) 1892
TS @l o 99
(1) 1702

(2) 1600

(3) 1886

(4) 1892
Options:-

.1, Option ID :- 1053,
. 2, Option ID :- 1054,
. 3, Option ID :- 1055,
. 4, Option ID :- 1056,
Answer Given:- 1, Option ID : -1053

Question ID:- 265
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Graha Swara means :
(1) Starting note

(2) Middle note

(3) Higher note

(4) Lower note

g W H 3y

(1) 9RF &=

(2) "= R

(3) TRER

(4) HE®R
Options:-

.1, Option ID :- 1057,
. 2, Option ID :- 1058,
. 3, Option ID :- 1059,

. 4, Option ID :- 1060,
Answer Given:- 4, Option ID : -1060

Question I1D:- 266

Sankeerna Jati means :

(1) 8

(2) 16

3) 9

4) 12
EEUEIGEIECE
(1) 8

(2) 16

3) 9
O(r‘;lt?ons:--l2

.1, Option ID :- 1061,
. 2, Option ID :- 1062,
. 3, Option ID :- 1063,
. 4, Option ID :- 1064,
Answer Given:- 3, Option ID : -1063

Question ID:- 267
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The anga “Laghu” is prominent in which system of music ?
(1) Karnatic music

(2) Western music
(3) Folk music
(4) Rabindra Sangeet

1 W HG ooy ufeg 87

(1) eATeH it

(2) OET Hi

(3) e Hid

(4) T Hifd
Options:-

.1, Option ID :- 1065,
. 2, Option ID :- 1066,
. 3, Option ID :- 1067,

. 4, Option ID :- 1068,
Answer Given:- 1, Option ID : -1065

Question 1D:- 268

Corresponding Mela of Marwa in Karnatic music :
(1) GamakaKriya

(2) Subhapantuvarali

(3) Kharaharapriya
(4)

4) Sankarabharanam

YR T o SR Hed T FHATesh Htd H 91 & ?

(1)  THeRishAT
(2) gHYgEi
(3) wWEyH

0(4) _sx'wmmrq
ptions:-

.1, Option ID :- 1069,
. 2, Option 1D :- 1070,
. 3, Option 1D :- 1071,
. 4, Option 1D :- 1072,
Answer Given:- 4, Option ID : -1072

Question ID:- 269
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How many Chakras are there in Purvanga part of 72 melakarta Scheme ?

(1) 10
2) 6
(3) 9
4) 14

(1) 10
(2) 6
(3 2
(4) 14

Options:-

.1, Option ID :- 1073,
. 2, Option ID :- 1074,
. 3, Option ID :- 1075,

. 4, Option ID :- 1076,
Answer Given:- 1, Option ID : -1073

Question 1D:- 270

To which “That” the raga Ramkali belongs to ?

(1) Bilawal
(2) Todi
(3) Bhairav
(4) Kafi
T T fore ae § Hefed & 2
(1) ToeEa
(2) dfe
(3) @
(4) HIH
Options:-

.1, Option ID :- 1077,
. 2, Option ID :- 1078,
. 3, Option ID :- 1079,
. 4, Option ID :- 1080,
Answer Given:- 1, Option ID : -1077

Question ID:- 271
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(1) Suddha kalyan
(2) Ramkali

(3) Malkauns

(4) Chandrakauns

HET Y12 I =l &AM ;
(1) S A
(2) THHTA
(3) WA
(4) =FEHIH
Options:-

.1, Option ID :- 1081,
. 2, Option ID :- 1082,
. 3, Option ID :- 1083,

. 4, Option ID :- 1084,
Answer Given:- 3, Option ID : -1083

Identify the kalyan That raga :

Question I1D:- 272

(1) 16
(2) 10
3) 12
4) 9

(1) 16
(2) 10
3) 12

O([LJlt?ons:-9

.1, Option ID :- 1085,
. 2, Option ID :- 1086,
. 3, Option 1D :- 1087,
. 4, Option 1D :- 1088,
Answer Given:- 1, Option ID : -1085

Question ID:- 273

How many varieties of swara sthanas are used in 72 melakarta scheme ?

72 Hefehdl Ars 1 § foha- Wehi & TaCEer] & T4 B 8 2
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Plutam is a :

(1) one of Raga

(2) one of Composer
(3) one of Shadanga
(4) ome of Instrument

AH FE ?

(1) THIm

(2) TH EAHR
(3) T e
(4) THaE
Options:-

.1, Option ID :- 1089,
. 2, Option ID :- 1090,
. 3, Option ID :- 1091,

. 4, Option ID :- 1092,
Answer Given:- 1, Option ID : -1089

Question ID:- 274

How many matras are there in Khanda Jati ?
(1) 8

(2) 3

(3) 9

@) 12

@ g § foraet " Bl & 2
(1) 8

(2) 5

3 9
(D(FJlt?ons:;12

.1, Option ID :- 1093,
. 2, Option ID :- 1094,
. 3, Option ID :- 1095,
. 4, Option ID :- 1096,
Answer Given:- 2, Option ID : -1094

Question ID:- 275
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Identify the 16 matra anga :
(1) Kakapadam

(2) Guru
(3) Plutam
(4) Drutam
16 HEAT S 1 gAY :
(1) <hTRYIEH
(2) T*
(3) WIH
(4) 7™
Options:-

.1, Option ID :- 1097,
. 2, Option ID :- 1098,
. 3, Option ID :- 1099,

. 4, Option ID :- 1100,
Answer Given:- 1, Option ID : -1097

Question ID:- 276

How many matras the anga “Guru” has ?
(1) 10
12

7
Options:-

.
=
[

.1, Option ID :- 1101,
. 2, Option ID :- 1102,
. 3, Option ID :- 1103,
. 4, Option ID :- 1104,
Answer Given:- 3, Option ID : -1103

Question ID:- 277
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(1) Gaja Jhampa Tala
(2) Chitra Tala

(3) Farodast Tala

(4) Rudra Tala

frfafed § & 14 760 9/ S 9@
(1) TS T
(2) T
(3) HURH
(4) T A
Options:-

.1, Option ID :- 1105,
. 2, Option ID :- 1106,
. 3, Option ID :- 1107,

. 4, Option ID :- 1108,
Answer Given:- 3, Option ID : -1107

Identify 14 matra tala from the following :

Question ID:- 278

Select the matras of Ada Chartal :

(1) 14

(2) 10

3) 9

4) 7

ST FRATA o HIFATS] 1 I
(1) 14

(2) 10

3 9
Satons:.

.1, Option ID :- 1109,
. 2, Option ID :- 1110,
. 3, Option ID :- 1111,
. 4, Option ID :- 1112,
Answer Given:- 1, Option ID : -1109

Question ID:- 279
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Pandit Debu Choudhary is famous for :

(1) Sarangi
(2) Tabla
(3) Sitar
(4) Harmonium
tfed &g =R frmes fog gfag € 2
(1) =R
(2) el
(3) faaw
(4) ERHIFEH
Options:-

.1, Option ID :- 1113,
. 2, Option ID :- 1114,
. 3, Option ID :- 1115,

. 4, Option ID :- 1116,
Answer Given:- 2, Option ID : -1114

(1)

I

(2)
(3)
(4)

i

(1)
(2)
(3)
(4)

Question 1D:- 280

Identify the Bharat Ratna awardee from the following :

Pandit Ravishankar

Kudau Singh

Pandit Debu Choudhury
Pandit Shiva Kumar Sharma

Frferaa 5 § IRa T JOSFR W &dl & Jgamg :
EIELIENETS
Fal foe
Hfed gg =l
qfed forg AR ymi

Options:-

.1, Option ID :- 1117,

. 2, Option 1D :- 1118,

. 3, Option 1D :- 1119,

. 4, Option 1D :- 1120,

Answer Given:- 1, Option ID : -1117

Question ID:- 281
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Sulfoktais a:

(1) one of musical form

(2) one of Tala
(3) one of Instrument
(4) ome of Raga

YeARIER 1 & 2

(1) T veg=

(2) U e

(3) U™

(4) TH I
Options:-

.1, Option ID :- 1121,
. 2, Option ID :- 1122,
. 3, Option ID :- 1123,

. 4, Option ID :- 1124,
Answer Given:- 3, Option ID : -1123

Question 1D:- 282

(1) Hamsadhwani

(2) Malkauns
(3) Bhairav
(4) Abhogi
frafafas § 9 e oy w =1 ge=f
(1) BE=EN
(2) TR
(3) =
(4) @A
Options:-

.1, Option ID :- 1125,
. 2, Option ID :- 1126,
. 3, Option ID :- 1127,
. 4, Option ID :- 1128,
Answer Given:- 3, Option ID : -1127

Question ID:- 283

Identify the Komal Rishabha raga from the following :
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(1) Abhogi
(2) Bhairav
(3) Bilawal
(4) Bhupali
fr=fafas § F Fme TR I $ 9eE
(1) @eqfa
(2) S
(3) Toerae
(4) opfer
Options:-

.1, Option ID :- 1129,
. 2, Option ID :- 1130,
. 3, Option ID :- 1131,

. 4, Option ID :- 1132,
Answer Given:- 2, Option ID : -1130

Identify the komal gandhara raga from the following :

Question ID:- 284

Komal Nishad is equivalent to in Karnatic music :
(1) Suddha Nishad

(2) Kaisiki Nishad

(3) kakali Nishad

(4) Shatsruti Nishad

(1) ¥ R

(2) il Fomg
(3) mpfal fumg
(4) wegfd e

Options:-

.1, Option ID :- 1133,

. 2, Option 1D :- 1134,

. 3, Option ID :- 1135,

. 4, Option 1D :- 1136,

Answer Given:- 1, Option ID : -1133

Question ID:- 285
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Identify an equivalent raga of Purvi That in Karnatic music :
(1) Kalyani

(2) Todi
(3) Kamavardhani
(4) Harikambhoji

Ffesh Hiid § &l A1 % SeR & I &l I8y ;
(1) e

(2) s

(3) wMaHf
(4) ERemIfS
Options:-

.1, Option ID :- 1137,
. 2, Option ID :- 1138,
. 3, Option ID :- 1139,

. 4, Option ID :- 1140,
Answer Given:- 2, Option ID : -1138

Question 1D:- 286

Sphuritam is a :
(1) one of Raga

(2) one of Gamaka
(3) one of Tala
(4) one of Yati

THTT 1 &2

(1) TH I
(2) THT™H
(3) TH =
é[‘%t?ons:gqﬁ

.1, Option ID :- 1141,
. 2, Option ID :- 1142,
. 3, Option ID :- 1143,
. 4, Option ID :- 1144,
Answer Given:- 4, Option ID : -1144

Question ID:- 287
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The raga Basant is :

(1) Shadava-Sampurna
(2) Audava-Audava
(3) Awudava-Shadava
(4)

4) Shadava-Shadava

TAT ST AT 2

(1) wed - Feg
(2) sired - sited
(3) oirEd - weq
(4) WIEd - Hred

Options:-

.1, Option ID :- 1145,
. 2, Option ID :- 1146,
. 3, Option ID :- 1147,

. 4, Option ID :- 1148,
Answer Given:- 3, Option ID : -1147

Question 1D:- 288

The raga Kamod belongs to :
(1) Kafi That

(2) Todi That

(3) kalyan That

(4) Bhairav That

T FrHrE e FwEfi § 2
(1) THI A2

(2) dife o=

(3) =heHATT A

(4) E U=
Options:-

.1, Option ID :- 1149,
. 2, Option ID :- 1150,
. 3, Option ID :- 1151,
. 4, Option ID :- 1152,
Answer Given:- 3, Option ID : -1151

Question ID:- 289
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Medini jatiis a :
(1) Prabandha

(2) Tala

(3) Instrument

(4) Composer

e sifa @ 2

(1) 9a¥

(2) dr

(3) d@m=

(4) VIR
Options:-

.1, Option ID :- 1153,
. 2, Option ID :- 1154,
. 3, Option ID :- 1155,

. 4, Option ID :- 1156,
Answer Given:- 1, Option ID : -1153

Question 1D:- 290

Identify the string instrument :
(1) Mridangam

(2) Sitar
(3) Pakhawaj
(4) Tabla
AR 9T Rl LEECIELS
(1) =™
(2) faEar
(3) HEEs
(4) dsetn
Options:-

.1, Option ID :- 1157,
. 2, Option ID :- 1158,
. 3, Option ID :- 1159,
. 4, Option ID :- 1160,
Answer Given:- 2, Option ID : -1158

Question ID:- 291
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Identify the popular Vocalist :
(1) Shiva Kumar Sharma
(2) Amjad Ali Khan

(3) Debu Chaudhury
(4)

4) Girija Devi

yfag THE & WTT‘I'Q $
(1) e o i
(2) @msIe Afa @i
(3) < =mR
(4) T efa

Options:-

.1, Option ID :- 1161,
. 2, Option ID :- 1162,
. 3, Option ID :- 1163,

. 4, Option ID :- 1164,
Answer Given:- 4, Option ID : -1164

Question 1D:- 292

Identify which is not a percussion Instrument ?
(1) Mridangam

(2) Veena
(3) Tabla
(4) Pakhawaj
1 5 S e § SHeR! FEHI :
(1) T=™
(2) =
(3) doe
(4) HEES
Options:-

.1, Option ID :- 1165,
. 2, Option ID :- 1166,
. 3, Option ID :- 1167,
. 4, Option ID :- 1168,
Answer Given:- 2, Option ID : -1166

Question ID:- 293
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Identify the famous Sarod player :
(1) Amjad Ali Khan

(2) Ravi Shankar

(3) Shiva Kumar Sharma

(4)

4 Gangubai Hangal

yfeg TE e &I T
(1) oo sifer @

(2) T o

(3) fomgHR wmi

(4) A EI

Options:-

.1, Option ID :- 1169,
. 2, Option ID :- 1170,
. 3, Option ID :- 1171,

. 4, Option ID :- 1172,
Answer Given:- 2, Option ID : -1170

Question ID:- 294

Shadanga means :

(1) 8

(2) 6

(3) 12

(4) 10
TETH AT :
(1) 8

(2) 6

(3) 12
O(rjlt?ons:;lo

.1, Option ID :- 1173,
. 2, Option ID :- 1174,
. 3, Option ID :- 1175,
. 4, Option ID :- 1176,
Answer Given:- 1, Option ID : -1173

Question ID:- 295
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Chandra-kauns belongs to :
(1) Bilawal That

(2) Kafi That

(3) Kalyan That

(4) Bhairav That
R TR FwEeT 2
(1) +IicTae 9re

(2) THI A2

(3) “heHTT AT

(4) & e
Options:-

.1, Option ID :- 1177,
. 2, Option ID :- 1178,
. 3, Option ID :- 1179,

. 4, Option ID :- 1180,
Answer Given:- 1, Option ID : -1177

Question I1D:- 296

Identify the Samvadi Swara of raga Madhuwanti :
(1) Rishabha

(2) Gandhara

(3) Madyama

(4) Nishada

T HYaf & Harfe @ %l e
(1) Ty

(2) TIFER

(3) WHEAH
O(;Jit%ons:m

.1, Option ID :- 1181,
. 2, Option ID :- 1182,
. 3, Option ID :- 1183,
. 4, Option ID :- 1184,
Answer Given:- 4, Option ID : -1184

Question ID:- 297
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Period of Vishnu Digambar paluskar :

(1) 1872
(2) 1762
(3) 1700
(4) 1960
Foron] feriea geqeant &1 999 :
(1) 1872
(2) 1762
(3) 1700
(4) 1960
Options:-

.1, Option ID :- 1185,
. 2, Option ID :- 1186,
. 3, Option ID :- 1187,

. 4, Option ID :- 1188,
Answer Given:- 3, Option ID : -1187

Question ID:- 298

Period of Bhatkhande :

(1) 1900

(2) 1860

(3) 1800

(4) 1902
@S &1 T9Y :
(1) 1900

(2) 1860

(3) 1800

(4) 1902
Options:-

.1, Option ID :- 1189,
. 2, Option ID :- 1190,
. 3, Option ID :- 1191,
. 4, Option ID :- 1192,
Answer Given:- 4, Option ID : -1192

Question ID:- 299
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Identify which is not a musical form :
(1) Thumri

(2) Tappa
(3) Jogiya
(4)

4 Tarana

(1) R
(2) 2o
(3) AT
(4) W
Options:-

.1, Option ID :- 1193,
. 2, Option ID :- 1194,
. 3, Option ID :- 1195,

. 4, Option ID :- 1196,
Answer Given:- 3, Option ID : -1195

Question 1D:- 300

Vaggeyakara means :

(1) Dancer

(2) player

(3) Composer

(4) painter

ATIFHR A 9

(1) TFHR

(2) @mes

(3) TEATRR

(4) T=
Options:-

.1, Option ID :- 1197,
. 2, Option ID :- 1198,
. 3, Option ID :- 1199,
. 4, Option ID :- 1200,
Answer Given:- 2, Option ID : -1198

Question ID:- 301
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How many matras misra jati has ?

1 9
2) 7
(3) 4
4) 6
g sifa & fehat M 2t € 2
1 9
2 7
(3) 4
(4) 6
Options:-

.1, Option ID :- 1201,
. 2, Option ID :- 1202,
. 3, Option ID :- 1203,

. 4, Option ID :- 1204,
Answer Given:- 2, Option ID : -1202

Question ID:- 302

How many Varieties of Srutis are there in Indian music ?

(1) 22

2) 19

(3) 18

4) 14

IR Gl foha wehr o gf 2t € 2
(1) 22

2) 19

(3) 18
O(;lt?OHSZ;IJL

.1, Option ID :- 1205,
. 2, Option ID :- 1206,
. 3, Option ID :- 1207,
. 4, Option ID :- 1208,
Answer Given:- 1, Option ID : -1205

Question ID:- 303
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Ahir Bhairav belongs to :
(1) Bilawal That

(2) Todi That

(3) Bhairav That

(4) Kafi That

e R forad rafya €72
(1) ToemEa gre

(2) dife g

(3) 9@ e

(4) TRl =12
Options:-

.1, Option ID :- 1209,
. 2, Option ID :- 1210,
. 3, Option ID :- 1211,

. 4, Option ID :- 1212,
Answer Given:- 3, Option ID : -1211

Question 1D:- 304

(1) Rupak Tal

(2) Jhap Tal

(3) Basant Tal

(4) Dhumali Tal

= | 9 7 96 qel %1 qe=g
(1) ¥9% d1

(2) =UdA

(3) @Hd dred

(4) oI Tt
Options:-

.1, Option ID :- 1213,
. 2, Option ID :- 1214,
. 3, Option ID :- 1215,
. 4, Option ID :- 1216,
Answer Given:- 2, Option ID : -1214

Question ID:- 305

Identify 7 Matra Tala from the following :
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Identify the Gandhara of Asavari That :
(1) Suddha Gandhara

(2) Antara Gandhara

(3) Komal Gandhara

(4) Tivra Gandhara

SER 912 % MR 1 Gg=T
(1) s TR
(2) S TFER
(3) RIHEl TR
(4) g TR
Options:-

.1, Option ID :- 1217,
. 2, Option ID :- 1218,
. 3, Option ID :- 1219,

. 4, Option ID :- 1220,
Answer Given:- 1, Option ID : -1217

Question 1D:- 306

Identify which is not a wind Instrument ?
(1) Flute

(2) Nagaswaram

(3) Gottuvadya

(4) Sahanai

S gt 3 7@l 39! T
(1) =g

(2) TREEH

(3) TgarE

4) IR

Options:-

.1, Option ID :- 1221,
. 2, Option 1D :- 1222,
. 3, Option 1D :- 1223,
. 4, Option 1D :- 1224,
Answer Given:- 1, Option ID : -1221

Question ID:- 307
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Shankara raga belong to :
(1) Bilawal That

(2) kalyan That

(3) Todi That

(4) Kafi That

T viehq foredy Twifeg € 2
(1) TocmEa ae

(2) A oATE

(3) dife a2

(4) TR 9=
Options:-

.1, Option ID :- 1225,
. 2, Option ID :- 1226,
. 3, Option ID :- 1227,

. 4, Option ID :- 1228,
Answer Given:- 1, Option ID : -1225

Question 1D:- 308

Tyagaraja was familiar to :
(1) Karnatic music

(2) Rabindra Sangeet
(3) Folk music
(4) Haveli Sangeet
RIS feheren ferg wieg an?
(1) FAlesHh Fifd
(2) TEl= Hid
(3) @ik Hiffd
(4) eafd Frita

Options:-

.1, Option ID :- 1229,
. 2, Option ID :- 1230,
. 3, Option ID :- 1231,
. 4, Option ID :- 1232,
Answer Given:- 1, Option ID : -1229

Question ID:- 309
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Raga Deshkar belongs to which That ?
(1) Todi

(2) Kamaj
(3) Bilawal
(4) Poorvi

T ST g ge | gEfig § 2
(1) ife

(2) GH=

(3) feoretaa

(4) gt
Options:-

.1, Option ID :- 1233,
. 2, Option ID :- 1234,
. 3, Option ID :- 1235,

. 4, Option ID :- 1236,
Answer Given:- 1, Option ID : -1233

Question 1D:- 310

Select a That :
(1) Shankara

(2) Deshkar
(3) Jaijaiwanti
(4) kafi

(1) ¥R
(2) W
(3) Seafd
(4) TR
Options:-

.1, Option ID :- 1237,
. 2, Option ID :- 1238,
. 3, Option ID :- 1239,
. 4, Option ID :- 1240,
Answer Given:- 1, Option ID : -1237

Question ID:- 311
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(1) Damaruka

(2) Sphurita
(3) Marga
(4) Andolita
foreferfiad & @ = 1 9P -
(1) <SHEH
(2) ¥pfa
(3)
(4) sTEIfad
Options:-

.1, Option ID :- 1241,
. 2, Option ID :- 1242,
. 3, Option ID :- 1243,

. 4, Option ID :- 1244,
Answer Given:- 1, Option ID : -1241

Select a Yati from the following :

Question 1D:- 312

(1) Durga
(2) Hamsadhwani
(3) Malkauns
(4) Charukesi
Y= afsfd T = gg=
(1
(2) BEEH
(3) HTHH
(4) wTEhE
Options:-

.1, Option ID :- 1245,
. 2, Option ID :- 1246,
. 3, Option ID :- 1247,
. 4, Option ID :- 1248,
Answer Given:- 2, Option ID : -1246

Question ID:- 313

Identify the Pancham Varjit raga :

@ Teachingninja.in



Prakriti swaras are :
(1) Pure notes

(2) Common notes
(3) Modified notes
(4) Casual notes

i @2 1 &2

(1) wEy w=R

(2) HTERU @R

(3) uftadd @

(4) SfEfHg =R
Options:-

.1, Option ID :- 1249,
. 2, Option ID :- 1250,
. 3, Option ID :- 1251,

. 4, Option ID :- 1252,
Answer Given:- 4, Option ID : -1252

Question 1D:- 314

Identify the popular Pakhawaj player from the following :
(1) Kudau Singh

(2) Babu Khan

(3) Hassu Khan

(4) Ravi Shankar

=1 4 9 yq@ wEmEs 915 il Y2y
(1) Fi e

(2) dg @

(3) =@

(4) YfereieRt

Options:-

.1, Option ID :- 1253,
. 2, Option 1D :- 1254,
. 3, Option ID :- 1255,
. 4, Option 1D :- 1256,
Answer Given:- 1, Option ID : -1253

Question ID:- 315
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Atita graha is related to :

(1) Swara
(2) Raga
(3) Tala
(4) Laya
{eta e fore H HvaifHd &2
(1) =R
(2)
(3) drA
(4) <
Options:-

.1, Option ID :- 1257,
. 2, Option ID :- 1258,
. 3, Option ID :- 1259,

. 4, Option ID :- 1260,
Answer Given:- 2, Option ID : -1258

Question 1D:- 316

Prabandha is a :

(1) Musical Composition

(2) Raga

(3) Laya

(4) Instrument
T T8 ?

(1) e T
(2)

(3) @4
O(r‘}t?ons:ia-m

.1, Option ID :- 1261,
. 2, Option ID :- 1262,
. 3, Option ID :- 1263,
. 4, Option ID :- 1264,
Answer Given:- 3, Option ID : -1263

Question ID:- 317
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Two dots below the notes indicates in Indian music notation is known as :
(1) Mandra

(2) Anumandra
(3) Tara
(4) At Tara

R Hiita | w@fafy § € fawg @ % == % gied #d € 2

(1) ==

(2) SIgH=

(3) TR

(4) 3fq dr
Options:-

.1, Option ID :- 1265,
. 2, Option ID :- 12686,
. 3, Option ID :- 1267,

. 4, Option ID :- 1268,
Answer Given:- 1, Option ID : -1265

Question 1D:- 318

Pakad is related to :
(1) Prabandha

(2) Musician

(3) Raga

(4) Tala

e fered Hwaiferd € 2
(1) 9«4

(2) RN

(3) T

(4) @

Options:-

.1, Option ID :- 1269,

. 2, Option ID :- 1270,

. 3, Option ID :- 1271,

. 4, Option ID :- 1272,

Answer Given:- 2, Option ID : -1270

Question ID:- 319
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Identify which is not a raga ?
(1) Anahata

(2) Pooriya Dhanasree
(3) Hindol
(4)

4 Chandrakauns

NI TE & THF! TR |
(1) e

(2) gfem wmd

(3) fe=@

(4) FEH

Options:-

.1, Option ID :- 1273,
. 2, Option ID :- 1274,
. 3, Option ID :- 1275,

. 4, Option ID :- 1276,
Answer Given:- 1, Option ID : -1273

Question 1D:- 320

Identify the sysmbol which is used for “Anudrutam” in Karnatic music ?

(1)

W N
=00

(2)
(3)
(4)

[

e Hiitd H SFgan & foau #F a1 fow v w3t § ggenfag 2
(1)
(2)
(3)

4
O(pt?ons:

=l =1

.1, Option ID :- 1277,
. 2, Option ID :- 1278,
. 3, Option ID :- 1279,
. 4, Option ID :- 1280,
Answer Given:- 3, Option ID : -1279

Question ID:- 321
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Raga Chaya Nat belongs to which That ?
(1) Kalyan

(2) Kafi
(3) Todi
(4) Asavari
T =R fRg o § weifed 8 2
(1) =heFmn
(2) HTH
(3) dife
(4) STHER
Options:-

.1, Option ID :- 1281,
. 2, Option ID :- 1282,
. 3, Option ID :- 1283,

. 4, Option ID :- 1284,
Answer Given:- 1, Option ID : -1281

Question 1D:- 322

Identify which is not a Tala ?

(1) Kumbh

(2) Sikhar

(3) Akshiptika
(4) Dhumali
(1) F™

(2) fomr

(3)  sferftent
Ootlos:

.1, Option ID :- 1285,
. 2, Option ID :- 1286,
. 3, Option ID :- 1287,
. 4, Option ID :- 1288,
Answer Given:- 4, Option ID : -1288

Question ID:- 323
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Pandit Bhimsen Joshi belongs to which state ?
(1) Karnataka

(2) Kerala
(3) Tamil Nadu
(4) Andhra Pradesh
gfed o Sify forg T 9 dafea €2
(1) Ale®
(2) +XA
(3) dfFerTg
(4) SATYYRY
Options:-

.1, Option ID :- 1289,
. 2, Option ID :- 1290,
. 3, Option ID :- 1291,

. 4, Option ID :- 1292,
Answer Given:- 1, Option ID : -1289

Question I1D:- 324

Avartan is related to :

(1) Tala
(2) Swara
(3) Raga
(4) Gat
e fFad Hafud g 2
(1) @
(2) =R
(3) I
(4) T
Options:-

.1, Option ID :- 1293,
. 2, Option ID :- 1294,
. 3, Option ID :- 1295,
. 4, Option ID :- 1296,
Answer Given:- 1, Option ID : -1293

Question ID:- 325
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“Tukras” are related to :

(1) Percussion Instrument
(2) Vocal music

(3) Wind Instrument

(4) Folk music

TR0 fore eifem &2

(1) =F ==

(2) A H

(3) "=

(4) ek Hifid
Options:-

.1, Option ID :- 1297,
. 2, Option ID :- 1298,
. 3, Option ID :- 1299,

. 4, Option ID :- 1300,
Answer Given:- 1, Option ID : -1297

Question 1D:- 326

Identify the Suladi Sapta tala of Karnatic music :
(1) Pancham Sawari

(2) Matya Tala
(3) Dhumali
(4) Deepchandi
e HiMd o Gella §e el 2l qg=1y
(1) 999 Faril
(2) Ha G
(3) Y
(4) o
Options:-

.1, Option ID :- 1301,
. 2, Option 1D :- 1302,
. 3, Option 1D :- 1303,
. 4, Option 1D :- 1304,
Answer Given:- 1, Option ID : -1301

Question ID:- 327
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(1) M.S. Subbulakshmi
(2) M.S. Gopala Krishnan
(3) Balamurali Krishna
(4) S. Balachandar

Tfequ) YRa TRl | 9Rd 3 J0Hd @l 9

(1) TH.TH.gHaE
(2) TH.THEIUE fREE
(3) @rerHLeE fehem
(4) THIEAIH
Options:-
.1, Option ID :- 1305,
. 2, Option ID :- 1306,
. 3, Option ID :- 1307,

. 4, Option ID :- 1308,
Answer Given:- 1, Option ID : -1305

Select the “Bharat Ratna” awardee among the musicians from South India :

Question 1D:- 328

(1) Sitara Devi

(2) Gundecha Brothers
(3) Girija Devi

(4) Parveen Sultana

Frefafed § 9 yfag gug T w1 vg=f
(1) foam gfa

(2) T

(3) fufn gfa

0(4) T T

ptions:-

.1, Option ID :- 1309,
. 2, Option 1D :- 1310,
. 3, Option ID :- 1311,
. 4, Option 1D :- 1312,
Answer Given:- 2, Option ID : -1310

Question ID:- 329

Identify the popular Dhrupad singers from the following :
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Theka is popular in :

(1) Hindustani music

(2) Western music

(3) Karnatic music

(4) Dance music

3o forril wfs 72

(1) TegwrT Hiid

(2) AT Hid

(3) HAleH Hiftd

(4) T
Options:-

.1, Option ID :- 1313,
. 2, Option ID :- 1314,
. 3, Option ID :- 1315,

. 4, Option ID :- 1316,
Answer Given:- 4, Option ID : -1316

Question ID:- 330

(1) Andhra Pradesh

(2) Kerala
(3) Karnataka
(4) Tamil Nadu
TifefT smgn I e forod aesfug 87
(1) 3AFY Weu
(2) A
(3) HAleH
(4) TS
Options:-

.1, Option ID :- 1317,
. 2, Option ID :- 1318,
. 3, Option ID :- 1319,

. 4, Option 1D :- 1320,
Answer Given:- 3, Option ID : -1319

Print ResponseSheet

The dance form “Mohini Attam” belongs to :
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